Higher Modern Studies Plan for Essay 2: The Effectiveness of Aid In Africa
Paragraph 1: UNICEF
1. Start with : “One international organisation that has seen success in resolving the troubles in Africa is the United nations.”
2. Within the UN one specialised group is UNICEF.  The focus of this organisations is to… (Knowledge)
3. This is extremely important in Africa because… (Explain)
4. One example of success is… (Example)
5. One example of failure is… (Example)
6. Therefore UNICEF has seen success however due to… the problems within education has not been resolved for example… (Judgement & Example)
Paragraoh 2: FAO
1. Start with : “Another international organisation that has seen success in resolving the troubles in Africa is the United Nations.”
2. Within the UN one specialised group is FAO.  The focus of this organisations is to… (Knowledge)
3. This is extremely important in Africa because… (Explain)
4. One example of success is… (Example)
5. One example of failure is… (Example)
6. Therefore FAO has seen success however due to… the problems within food and water shortages has not been resolved for example… (Judgement & Example)
Paragraph 3: Millenium Development Goals
1. Start with : “The UN has also been criticised for failing resolving the troubles in Africa.”
2. Background to the MDG & aims (Knowledge)
3. Describe some successes & explain how this will help Africa (Example & Explain)
4. One example of failure is… & explain how this will continue to hinder Africa (Example & Explain)
5. Therefore the UN has been partly successful however due to… the problems within Africa has not been resolved for example… (Judgement & Example)
Paragraph 4: Bilateral Aid
1. Start with : “One international organisation that has seen success in resolving the troubles in Africa is Bilateral Aid Given by the UK.”
2. The DFID’s focus is to… for example targeting… (Knowledge)
3. This is extremely important in Africa because… (Explain)
4. One example of success is… (Example)
5. One example of failure is… (Example)
6. Therefore bilateral aid from the UK has seen success however due to… the problems within Africa have not been fully resolved for example… (Judgement & Example)
Paragraph 5: African Union
1. Start with : “Another international organisation that has seen success in resolving the troubles in Africa is the African Union.”
2. The AU’s focus is to… for example by targeting… (Knowledge)
3. This is extremely important in Africa because… (Explain)
4. One example of success is… (Example)
5. One example of failure is… (Example)
6. Therefore the African Union illustrates exactly that the problems within Africa cannot be fully resolved by aid because… (Judgement & Example)
Paragraph 6: European Union
1. Start with: “Another international organisation that has seen success in resolving the troubles in Africa is the European Union.”
2. The EU’s focus is to… for example by targeting… (Knowledge)
3. This is extremely important in Africa because… (Explain)
4. One example of success is… (Example)
5. Therefore the Ebola outbreak illustrates that aid alone cannot solve the problems within Africa because… 
6. However the EU has address this by… (Judgement & Example)

Paragraph 7: NGOs
1. Start with: “Another type of international organisation that has seen success in resolving the troubles in Africa is through the work of NGO’s.”
2. One NGO is Save The Children.  The focus of this organisations is to… (Knowledge)
3. This is extremely important in Africa because… (Explain)
4. One example of success is… (Example)
5. One example of why NGO’s are criticised (Knowledge)
6. Therefore although the work of NGO’s is vital to many communities within Africa their help alone is not enough to resolve Africa’s problems 
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